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36.

Diphthong means
(A) Greek word for depth (B) Two Vowels
(C) Greek word for tongues (D) Two Consonants

37. Choose the right meaning of the underlined phrase.
' The principal succeeded in establishing discipline in the college by handling indiscipline
with a high hand.
(A) take simple measures (B) take easy measures
(C) take strictest measures _ (D) take punishment measures
38. Choose the right meaning of the underlined phrase.
Despite so much villainy and sins in the modern world, there is the purifying influence by
the salt of the earth.
(A) punished persons of the world (B) bad persons of the world
(C) evil persons of the world (D) good persons of the world
39. Identify the Noun clause in the sentence. :
She told me that she would be grateful to me. If I gave her the book, of her interest.
(A) (B) © D)
40. She shouldn’t have said anything.
(A) Should she ? (B) Shall she ? (C) Shouldn’tshe ? (D) Cén she ?
41. Let us start now. _
(A) Shall we ? (B) Would we ? (C) Should we ? (D) Could we ?
Space For Rough Work
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42.

43.

44,

45.

47.

48.

The classification of Vowels and Consonants in English is based on

(A) grammar (B) letters (C) alphabets (D) sound

Replace the underlined words to intensity the meaning :

My father is suffering from diabetes for the past three years.

(A) will suffer (B) was suffering
(C) has been suffering (D) had suffered

Replace the proper prepositional phrase :

Call in this evening, if you can, I have something to discuss.

(A) Callon (B) Call for (C) Call at (D) Call off
I have begun to drink coffee.
(A) strong (B) powerful (C) thick (D) weak

Choose the right meaning of the phrasal verb ‘Pull together’.
(A) live in peace i (B) live in disturbance
(C) live naturally ; (D) live with discomfort

Choose the right meaning of the phrasal verb ‘Turn one adrift’.
(A) make one irrelevant - (B) make one self-dependent
(C) make one dependent : " (D) make one dis-relient

Choose the grammatically correct sentence.

(A) Sitting on a stool, I saw a lady with three legs.
(B) Isaw a lady with three legs sitting on a stool.
(C) With three legs, sitting on a, I saw a lady.

(D) I saw a lady sitting on, a stool with three legs.

Space For Rough Work
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49. The Arabian Nights ., : translated to many languages.
(A) were (B) is (C) was (D) are
50. The Committee agreed to the proposal.
(A) had (B) have (C) was (D) were
51. Synonym of Vicious
(A) Diabolical (B) Vision (C) Nice (D) Kind
52. Choose the correct word. :
(A) Philatalist (B) Philotelist (C) Pholatalist (D) Philatelist
53.  One who is skilled in making maps and chartsis .
(A) Chart maker (B) Cartographer (C) Atlaser (D) Mapper
54. Choose one of the words given in four alternatives which has a wrong suffix.
(A) Ripsaw (B) Seesaw (©) Zigsaw (D) Handicraft
55. Choose the right preﬁ:i of the word probable.
(A) non- (B) in- (C) im- (D) un-
56. Parents as well as Krishné ' present in a meeting. i
(A) am (B) were (C) does (D) is
57. Rajan. and Prajwal are intimate friends. The _is wiser than the former.
(A) latest (B) later ~ (C) last (D) latter
58, Neither my father nor my mother _____ educated.
(A) are being (B) are - (©)is (D) were
' ~ Space For Rough Work
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59.

60.

61.

62.

63.

64.

Choose the correct sentence. ri _ R
(A) The sun rise in the east. (B) Sun rises in‘the east.

(C) A sunrises in the east. (D) The sun rises in the east.

Choose the correct sentence.

(A) Murthy sent an mother to hospital.

(B) Murthy sent his mother to hospital. _

(C) Murthy sent a mother to hospital. (\. COm
(D) Murthy sent he mother to hospital. 6&\\\4,9\29 :

Identify the verb from the underlined words
Indians acknowledged that Sarojini Naidu was the nightingale of India.

@ ® | | © O

Identify the right sentence with proper arrangement of words.
(A) They to the music concert go every month by bus.
(B) Every month they to the music concert go by bus.
(C) Every month they go to the music econcert by bus.
(D) They go by bus to the music concert every month.

Choose the right sentence with proper arrangement of words.

(A) Iused to play tennis during my childhood everyday for an hour or so.
(B) 1used to play tennis everyday during my childhood for an hour or so.
(C) 1used to play tennis for an hour or so everyday during my childhood.

(D) Iused to play tennis everyday for an hour or so during my childhood.

My father was honest man.

(A) an (B) a | (C) No article (D) the

Space For Rough Work
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65.

67.

68.

Select the word which is closest in meaning to ‘Filigree’.

(A) Ornamental work (B) She-horse
(C) To fulfill (D) A court document
Oculist is

(A) A specialist in the treatment of ENT diseases.

(B) One who makes optical instruments.

(C) A specialist in the treatment of the diseases of the eye.
(D) One who possesses occult knowledge.

Improve the sentence by replacing the underlined phrase with the choice provided.
He was likely to win the elections by the sweeping majority.

(A) with sweeping a majority

(B) with the sweeping majority

(C) because of the sweeping majority

(D) by a sweeping majority

Identify the adverb from the underlined words.

The bad habits grow unconsciously.
@ @ © (D)

69, Idéntify the preposition from the underlined words.
They have ﬁ‘iendship among themselves.
A) ®B) ©) D)
70. A person who is kind and helpful to those who are poor.
(A) Philosopher (B) Philanthropist
(C) Philanderer (D) Philatelist
Space For Rough Work
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71.  Which of the following is not a part of slide design in PowerPoint ?
(A) Animation Scheme | (B) Design Template

(C) Slide Layout : (D) Color Scheme

72.  What happens if you select first and second slide and then click on new slide button on

toolbar in PowerPoint ?

(A) A new slide is inserted as second slide in preséntation.
(B) A new slide is inserted as first slide in presentation.
(C) None of these

(D) A new slide is inserted as third slide in presentation.

73. What are the three options available Insert >> Picture Menu in PowerPoint ‘7
(A) Clipart, From files, Autoshapes
(B) Clipart, Pictures, Shapes
(C) Clipart, Pictures, Autoshapes
(D) Clipart, From file, Shapes

74. The difference between slide demgn and auto content wizard in PowerPomt
(A) Slide design does not prov1dc sample content but auto content wizard prov1des sample
content to0o.
~ (B) Both are same.

©) Shde design asks your choice in steps but auto content wizard does not let you make

choices.

(D) Auto content wizard is just the wizard version of slide design.

Space For Rough Work
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71.

72.

73.

74.
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75. Program counter in a computer is a special purpose register that-contains
(A) Address of the first instruction of the program being executed.
(B) Address of the instruction being executed.
(C) Random Address.

(D) Address of the next instruction to be executed.

76. The number of bits a computer can process at once is called a
(A) Nibble ' (B) Word
(C) Bit sequence D) Byté

77. The logic gate that provides high output for same inputs is :
(A) AND | | (B) NOT Gate
(C) XOR (D) X-NOR

78. Resolution of Laser Printer is specified in terrﬁs of
(A) CPM — (B) DPI
(C) PPM " (D) LPM

79. Negative numbers are represented in computers by
(A) Signand Magnitude (B) 1°s complement

(C) ASCII (D) 2’s complement

80. Microprocessors were introduced in which generation of computers ?

(A) Third generation : (B) First generation
(C) Fourth generation (D) Second generation
Space For Rough Work
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76.

77.

78.

79.

80.

BOTR, BTV Fperpamd* Pos3oe e.om et QU BT DURD UNT) , ST WIRPOBTIITD 2
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81.

82.

Multiple calculations can be made in a single formula using :
(A) Array Formula (B) Standard Formulas

(C) Smart Formula (D) Complex Formulas

To return the remainder after a number is divided by a divisor in Excel

function is
used.
(A) MOD() (B) ROUND( )
(C) DIV() (D) FACT()
83. Which of the following is an absolute cell reference in MS Excel ?
(A) #a#1 B)'A!1l ©) Al (D) $AS1
84. InMS Word, superscript, subscript, strikethrough are known as
(A) Word Art (B) Font styles
(C) Default text | (D) Font effects
85. Which function in Excel tells how many numeric entries are there ?
(A) SUM (B) NUM
(C) CHKCNT ' (D) COUNT
86. In the formula, which symbol specifies the fixed columns or rows ?
(A) % B)§ © ; D) *
87. How can you update the values of formula cells if auto calculate mode of Excel is disabled ?
(A) F9 (B) F8 (©) F11 - (D) F10
Space For Rough Work
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81. WX JwT (multiple calculations) RYI), wode AT, L WP BRBUWBITD.
(A) sZRngrvny - (B) Zneds RagneRy
(C) M Ragresy | (D) w20y’ RAZRYY
82. 2,080 Hosg oty FEETHE, WOEIROR NG H030 Beay LosTINREO_____ Hods oy
uﬁmmrbgd.
(A) MOD() (B) ROUND() (C) DIV() (D) FACT()
83.  FINIHNUO, AR 2037 SRS Homear A euele N 2
(A) #a#1 (B) !A!1 ) A1l (D) $AS1
84. Q0T IFETA, RRTORTE, , BIRTE , B, F°GR Rd ROTI SLODCONT.
(A) B e (B) ootz B eoried -(C) R, o° (D) o0e3* Tomoeo
85. F'RQ, o F0DFF IR Foaw, ITBTIMEES 208 VeI 2
(A) SUM (B) NUM (C) CHKCNT (D) COUNT
86. RAZHE, IR 243501 U/ AT POTFTIEL ST OIMUR), NOFRTRRSE ?
(A) % ®B) 3% ‘ ©); (D) *
87. Bo'S SIevels S50 (auto calculate) Spez® ) &%Ojaﬂm@kwd QD) oI &aeéﬁlﬂﬁ
P, TR, Berd SDBORLTEID ? |
(A) F9 (B) F8 (©) F11 (D) F10
Space For Rough Work
C1

19 202308KEC1



Which enables us to send the same léttér to different persons it MS Word ?

(A) Macros (", (B) Mail mergé.

(C) Form letters (D) Template

89. InMS Word the key F12 opens a .
(A) Open dialog box "(B) Save as dialog box
(C) Save dialog box (D) Close dialog box..
90. A website address is a unique name that identifies a specific ‘on the web.
- (A) Link (B) Web Browser
(C) Web Page (D) Website
91. InMS Word, Ctrl + R shortcut key is used to
(A) Right align the selected paragraph
~ (B) Reopen the last closed document -
(C) Reapply the last paragraph formatting
(D) Reprint the last printed page
92. Which of the followiﬁg is not available in MS Word font spacing ?
(A) Condensed - (B) Loosely
(C) Expanded : (D) Normal
93. Shortcut key in MS Word to “insert a hyperlink” in a document
(A) Ctrl+L ' (B) Ctrl+ H
(C) Ctrl+X | - (D) Cul+K

Space For Rough Work
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88.

89.

90.

91.

PO’ TEF A, L0oTSeFINY, eded e3eds 3, 3MOT BILLROL FTd Feort T [WRA ERBITTS ?

(A) =R Bgex* (B) deer s (C) o' Sume (D) soges

WO IEFTVQF12 s IR, 0303 92

(A) Open xoor et (B) Save as Xowors et

(C) Save Kosozs syt (D) Close R0z @edft

S D90RY FRY,0F, S, MOTIEROT DOH, HRTINT.

(A) Oos* (B) I ePxot (C) e ez (D) S

DO BEFRY,Ctrl + R ZotFraes’ se o) DO, WHRTOMIT 2

vod% #Jbacs 309, COTRTRY, WOE WeeRTLD

Jovslantal TS B0, s 2deben
(C) Bpzod w2, TomeT* podFtion'sy OF BT

(D) #2F030 00T LeTTY P WOQRL

FENTZNVE, CIRTYT 20T TEF PO BRONIQ, Ol ?

92.
(A) m00eE3 (B) 293 (C) LmoROT (D) oz,
93. DO’ TEF T, BOOFRY FTO® QTR NeOIL) Jotr'F Fe §¢ ?
(A) Ctrl+L (B) Ctrl+ H (C) Ctrl+ X (D) Cul+K
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94.

Which of the following domains is used by profit business ? .-

(A) .edu (B) .com (C) .org (D) .net
95. Which among the following is a Search Engine ?
(A) Google (B) Internet Explorer
(C) Firefox (D) Flash
96. Which of the following is not a PowerPoint ﬁansition effect ?
(A) Shake (B) Fade
(C) Wipe (D) Push
97. Which of the following is not a PowerPoint slide size ?
(A) Square (1:1) (B) Standard (4:3)
(C) Portrait (9:16) (D) Wide screen (16:9)
98. What is the maximum size of a document allowed as an attachment in the Gmail ?
(A) 25 MB . (B) 25 KB
(C) 50KB ' (D) 15 MB
99. USB stands for | |
(A) Universal Sequential Bit _ (B) Universal Serial Bus
(C) Universal Serial Byte (D) Uniform Serial Bus
100. In an Email system, BCC stands for
(A) Basic Carbon Copy - (B) Black Carbon Copy
~ (C) Batch Carbon Copy (D) Blind Carbon Copy
Space For Rough Work
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94. ¥YNI oI RTINS, U035 =, BTOOO0E LERTNIZE ?

(A) .edu (B) .com (C) .org (D) .net
95. IRYNYY OV BesF D02 9

(A) Reane* (B) woswmre doegd (C) Fo'mor’, (D) &>
96. BINSHNVE) IR JSOTOO0E LRV P, 6, ?

(A) Bewe (B) Pec* ©) = (D) T
97. BSNIPYrPY, IR VRO TOWOEF B, B MZsey, ?

(A) 3 go°(1:1) (B) I=ned3 (4:3)
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Version Code

COMPETITIVE :EXAMINATION-2023 Serial No.
Cl PAPER-2
(KANNADA, ENGLISH & COMPUTER)
TOTAL NO. OF MENTION YOUR
PAPER CODE DURA
pucad QUESTIONS REGISTER NUMBER
202308KEC1 | TWO HOURS 100
INSTRUCTIONS FOR CANDIDATES

DOs:

1. This question booklet is issued to you by the room invigilator after the 2 bell.

2. Check w!1ether the Reg.ister Number has been entered and shaded in the respective circles on the OMR answer sheet.

3. The version code of this question booklet should be entered on the OMR answer sheet and the respective circles should
also be shaded completely. _

4. Tl.lem\;:rsion Code and Serial Number of this question booklet should also be entered on the Nominal Roll without any
mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTs:

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED.

2. Till the 3™ Bell rings;

* Do not remove the seal present on the right hand side of this question booklet.
* Do not; look inside this question booklet or start answering on the OMR answer sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. In case of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless stated
otherwise.

2. This question booklet contains 100 questions and each question will have one statement and four different options/
responses & out of which you have to choose one correct answer. _

3. After'the 3™ Bell rings, remove the paper seal of this question booklet and check that this booklet does not have any
unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item and start
answering on the OMR answer sheet.

4. Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet,

ROOINT 8,30 3F) 8,300 WRONG METHODS
CORRECT METHOD -
©®®©® ONONCRAION X YO

5. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

7. Once the last Bell rings, stop writing on the OMR answer sheet and hand over the OMR answer sheet to the room
invigilator as it is. .

8. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

9. All questions carry equal marks. Every question for which wrong answer has been given by the candidate, 1/4% (0.25) of the
marks assigned for that question will be deducted. If a question is not answered by the candidate there will be no marks
deducted.

10.

Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind is prohibited inside the
Examination venue.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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